Right Triangle Trig: Additional Problems Name g{_ﬂif

Find the value for the Trigonometric Ratios. Simplify (do not calculate!!) fractions where necessary.
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Solve for the missing side lengths (to the nearest hundredth) and angle measures (to the nearest tenth of a degree).
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Find the missing side lengths. Leave your answers in simplest radical form.
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7. Erom the top of the 100-foot tall Altgelt Hall a man observes a car moving toward the building. If the angle of
depression to the car changes from 22° to 46° during the observation, how far does the car travel?
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